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SUMMATIVE ASSESSMENT - I (2014-15)
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Time allowed : 3 hours Maximum Marks : 90
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General Instructions :

The question paper has 30 questions in all. All questions are compulsory.
Marks are indicated against each question.

Questions from serial number 1 to 8 are very short answer type questions. Each
question carries one mark.

Questions from serial number 9 to 21 are 3 marks questions. Answer of these
questions should not exceed 80 words each.

Questions from serial number 22 to 29 are 5 marks questions. Answer of these
questions should not exceed 100 words each.

Question number 30 is map question of 3 marks from Geography. After
completion, attach the maps inside your answer book.

09 H qEaehi ! sed! 1 Sl ew-fafad fafa g = T2 o o ?

Why did manuscripts fail to meet the expanding demand of books in Europe ?



3197eT/ OR

R ST H $reie o YRR FuE U

Which novel has explained the depletion of English traditional agrarian society ?

2 ‘I i’ IR ‘wee’ wRd & fRy 9 H ae S €2

In which basin are ‘Bad Land” and ‘Ravines’ found in India ?

3 1 HHT TG T ST &1 TR S Hehar’’ 98 3sg fohdd e 972

“Religion can never be separated from politics”. Who said these words ?

4 Sfesam & Tt T St STt © 2

Which language is mainly spoken in the Flemish region of Belgium ?

5 o T S Rl HEe o1 37l ‘HerdR' (He) BT § ?

Which local body has a “Mayor” as its head ?

6 Agd T k! gftanfig sl shifey

Define average income.

7 T SO | Tifaferfert I AT ol

What was the most important sector of economic activities at the earliest stages of
development ?

8 I ET &5 2000

Name the sector which continued to be the largest employer even in the year 2000.
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9 “' 3T I HA a1 <® H o ST § g AR AR St YR Fi Uicdifed fRar’ wed w3

“The relocation of industry to low-wage countries stimulated world trade and capital flows.”
Justify the statement.

319reT/ OR

fiteed == 972 =2 ford YR ¢ =AREl & fow goive & vl § AR &1 hicd 1 fear 41?7 3

W HIfGT |
What were guilds ? How did they make it difficult for new merchants to set business in towns
of England ? Explain
/OR
"' i i SeET 3
TR A &1 gfie SIS

“The policy of racialism and discrimination was clearly visible in the colonial cities of India.”
Justify the statement by giving any three examples.

10 fheel I SUge STTER0N oh! HeEdl 9 I8 I whifee o ST{ieh I Tg= % =T Tt AFf i 3
S H Yo - SR Shicd H TR

Explain with the help of any three suitable examples that the pre - modern world changed
with the discovery of new sea routes to America.

/OR

HoH fova g o SR YR | ST SceT =i o191 ? i iF SRl <ife | 3
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Why did industrial production in India increase during the First World War ? Give any three
reasons

319reT/ OR

TATSR B ‘MR 9 61 g@ faRrarsl s v wifsu

Describe the main features of a garden city as conceived by Ebenezer Howard.

11 Tl Irameal < qvETd, Tohe @ STfashRi = Ul dehrieh H YR fopan?

Which three major innovations have improved the printing technology after the Seventeenth
Century ?

/OR

‘qltet %’ A ST | SRIT T, 79 9eA o o O i SmeAn ife |

Explain the picture of the new middle class which the novel ‘Pariksha Guru’ portrays.

12 T SRI o1 I STFIIT © 7 SHeh Te<d hl T ifad |

What is meant by the print revolution ? Explain its significance.

/OR

‘eS| A U TRy foran ? 39 3U=ad R @Rl ol fU T He¥T sl ISR il |

Who wrote the novel ‘Saraswativijayam’ ? Highlight any two messages given to the people
through the novel.
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SgSeRa Tt ufREsHT & fohdl i el @R <A =if i o1 Sooie ity |

Mention any three advantages and three disadvantages of Multipurpose River Projects.

= YIEM Bl O
IS |

In which year was the ‘Indian Wildlife Protection Act’ implemented in India ? Describe the
main thrust area of this programme.

AR AT T ERA hifd o TSI

Analyse in the socio-economic impact of Green Revolution on the Indian society.

O H T7 T FIETT T e d@TaT (dT TA7? 0 HT |

How has power sharing been promoted in India ? Explain.

el | ST i gorT §, %8 9gl | UiNg T o gMiie STHaEas § amse
T T M =i &2

How does overlapping of social differences lead to social division ? Why is it easier to
accommodate cross - cutting differences than overlapping differences?

AR k! SAHM TSI H ST SHereel <l YfHeh! 1 Hedish shifsIT |

Evaluate the role of caste hierarchy in present day politics of India.

“Service Sector in India provides many different kinds of services.” Explain.

TR 37¢f el | 19 &5k ol Ao I hifaT |

Explain the role of tertiary sector in the Indian economy.

w



21 T Sl qe TeEAed aRgall | <R IS | 379 BRe] Tohal ScUIG i TVMET H kY HemEar et 3
g7

Distinguish between final goods and intermediate goods. How do they help in calculating
GDP ?

22 "R feR " it e S| YR & 919 R SRR @yt hAE i faed 3 %9 WA 5
fora?

Explain the term “trade surplus’. How was the income received from trade surplus with India
used by Britain?

319791/ OR

g fava gg A fh9 IR wRdTE 3TN o foiw Tek Areenta =3 feafa fafda =61 72 wame ifsu 5

How did the First World War create a dramatically new situation in Indian industries ?
Explain

279787/ OR

19 20 & el o SH o< § Afgeredl o o7t SqeTe A H ST ST hi SATEAT ShiTSIU | 5

Explain the changes in the work available to women in London during 19t and 20th century.

23 igfarfyai i wfaferdt sam & SiF @ 9 wfeaEat o €2 fUfen 39 (sm) & fodl < swEni &1 5
I TSI |

Which three difficulties are faced in copying manuscripts ? Mention any two of printing
press.
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‘Ui & U H g & @t 9l o vifdenet U R U2 1 39 wed w1 Sfifue wenfud
RIS |

“Premchand’s novels are filled with powerful characters from all levels of society”. Justify
the statement.

TGS § 39 Y i IfY i |

“Both Belgium and Sri Lanka are democracies with a difference”. Support the statement by
giving three points of difference.

Sifestr T S fysran sl frg TR G9Ten T3 97 ? SSELl |ied T8 ShifsT |

Explain with examples how ethnic diversity was accommodated in Belgium.

What is the rationale for decentralisation of power? Explain the structure of Rural Local
Government in India.

fHal & Tl & U= 1 G 8§ 2 YR | U0 T TehR o &< &l A1 iU |

forvareardt wfgensti & stiderl =t q " g9 & ifites faumse @
Ui FifeT |

Mention the main demands of the world wide women’s agitations ? Describe sexual division
of labour in this context.

JfRTd STt T ISTRXUT Gt AR foehT™l < He hi ¥qE WhifsT |

Explain the importance of sustainable development by giving the example of ground water.

frefafea gu snfde nfafafem 1 wafies, fedow AR gdaes nfafaf=t § arffea it
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Classify the following ten economic activities under primary, secondary and tertiary activities.

Tailoring, teaching, flowercultivation, moneylending, Bee-keeping, working in a factory,
banking, courier, fishing, cloth making.

30 (a) foU 3T WRA % USHifOER W@EEaT # A W TF Aaw fGted fFE o g A= a3

(A) & % TR
(b) HIAREA ol SUYRI Herdl 511 S84 Ta 3o M fAT@T :
(B)  HIEH o Siig AT

©
30
(30.1) =R # ford YR & o7 T& & § 2
(30.2) Wit g1 Sia SAvgaH fohe T4 | srafierd €72
(30.3)
(@) One item A is shown in the given political outline map of India. Identify this item

with the help of following information and write its Correct name on the line marked on the

map.

(A)  Type of forests
(b) On the same political outline map of India, locate and label the following items with
appropriate symbols

(B) Sariska Wildlife Sanctuary
© Hirakud Dam

Note : The following questions are for the visually impaired Candidates only inlieu = of Q.
No.30
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(30.1) What type of forests are found in Bihar ?

(30.2) In which state is Sariska Wildlife Sanctuary located ?

(30.3) In which state is Hirakud dam Situated ?
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